

Because learning changes everything."

QUOTE PREPARED FOR:

SUBSCRIPTION/DIGITAL CONTACT:

AMERICAN INDIAN PUBLIC CS II 171 12TH STREET OAKLAND, CA 94607-4900 ACCOUNT NUMBER: 3828764 Zubida Bakheit zubida.bakheit@aimsk12.org (310) 498-1848

CONTACT:

Zubida Bakheit zubida.bakheit@aimsk12.org (310) 498-1848

SALES REP INFORMATION:

Gary Costley
gary.costley@mheducation.com
(916) 204-0645

Section Summary CA Inspire Science		Value of All Materials \$24,311.49	Free Materials (\$5,886.09)	Product Subtotal \$18,425,40
	PRODUCT TOTAL*	\$24,311.49	(\$5,886.09)	
	ESTIMATED S&H**			\$0.00
	ESTIMATED TAX**			\$1,888.60
	GRAND TOTAL*			\$20,314.00

^{*} Price firm for 90 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:			

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: (800) 780-0246 | Fax: (866) 513-8081

QUOTE DATE: 06/07/2024 ACCOUNT NAME: AMERICAN INDIAN PUBLIC CS II EXPIRATION DATE: 09/05/2024

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
CA Inspire Science					
INSPIRE EARTH SCIENCE CA GRADE 6 STUDENT EDITION VOL 1	978-0-07-682998-9	130	\$22.47	\$0.00	\$2,921.10
INSPIRE EARTH SCIENCE CA GRADE 6 STUDENT EDITION VOL 1	978-0-07-682998-9	20	\$22.47	\$449.40	*Free Materials
INSPIRE EARTH SCIENCE CA GRADE 6 STUDENT EDITION VOL 2	978-0-07-682999-6	130	\$22.47	\$0.00	\$2,921.10
INSPIRE EARTH SCIENCE CA GRADE 6 STUDENT EDITION VOL 2	978-0-07-682999-6	20	\$22.47	\$449.40	*Free Materials
CALIFORNIA SCIENCE LIFE SCIENCE STUDENT EDITION VOL 1	978-0-07-683007-7	130	\$22.47	\$0.00	\$2,921.10
CALIFORNIA SCIENCE LIFE SCIENCE STUDENT EDITION VOL 1	978-0-07-683007-7	20	\$22.47	\$449.40	*Free Materials
INSPIRE LIFE SCIENCE CA GRADE 7 STUDENT EDITION VOL 2	978-0-07-683012-1	130	\$22.47	\$0.00	\$2,921.10
INSPIRE LIFE SCIENCE CA GRADE 7 STUDENT EDITION VOL 2	978-0-07-683012-1	20	\$22.47	\$449.40	*Free Materials
CALIFORNIA SCIENCE PHYSICAL SCIENCE STUDENT EDITION VOL 1	978-0-07-683015-2	150	\$22.47	\$0.00	\$3,370.50
CALIFORNIA SCIENCE PHYSICAL SCIENCE STUDENT EDITION VOL 1	978-0-07-683015-2	20	\$22.47	\$449.40	*Free Materials
CALIFORNIA SCIENCE PHYSICAL SCIENCE STUDENT EDITION VOL 2	978-0-07-683038-1	150	\$22.47	\$0.00	\$3,370.50
CALIFORNIA SCIENCE PHYSICAL SCIENCE STUDENT EDITION VOL 2	978-0-07-683038-1	20	\$22.47	\$449.40	*Free Materials
Teacher Resources	•	•		•	
CALIFORNIA SCIENCE EARTH SCIENCE ETEACHER EDITION 1 YEAR SUBSCRIPTION	978-0-07-683056-5	6	\$48.00	\$288.00	*Free Materials
CALIFORNIA SCIENCE LIFE SCIENCE ETEACHER EDITION 1 YEAR SUBSCRIPTION	978-0-07-683058-9	6	\$48.00	\$288.00	*Free Materials
CALIFORNIA SCIENCE PHYSICAL SCIENCE ETEACHER EDITION 1 YEAR SUBSCRIPTION	978-0-07-683017-6	6	\$48.00	\$288.00	*Free Materials
	T			ı	Т
CALIFORNIA INSPIRE EARTH & SPACE SCIENCE G6 TEACHER EDITION 4 UNIT BUNDLE	978-0-07-686781-3	3	\$202.23	\$606.69	*Free Materials

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: (800) 780-0246 | Fax: (866) 513-8081

QUOTE DATE: 06/07/2024 ACCOUNT NAME: AMERICAN INDIAN PUBLIC CS II EXPIRATION DATE: 09/05/2024



Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
CA INSPIRE SCIENCE EARTH AND SPACE INSPIRING CAST SUCCESS GUIDE	978-0-07-683047-3	3	\$22.47	\$67.41	*Free Materials
INSPIRE EARTH SCIENCE CA GRADE 6 POSTER PACK	978-0-07-684814-0	3	\$22.47	\$67.41	*Free Materials
CALIFORNIA INSP SCNCE ERTH & SPCE LIFE PHYS G6-8 TEACHER PROGRAM GUIDE	978-0-07-686972-5	3	\$11.24	\$33.72	*Free Materials
CALIFORNIA INSPIRE LIFE SCIENCE G7 TEACHER EDITION 4 UNIT BUNDLE	978-0-07-686811-7	3	\$202.23	\$606.69	*Free Materials
CA INSPIRE SCIENCE LIFE INSPIRING CAST SUCCESS GUIDE	978-0-07-683048-0	3	\$22.47	\$67.41	*Free Materials
INSPIRE LIFE SCIENCE CA GRADE 7 POSTER PACK	978-0-07-684817-1	3	\$22.47	\$67.41	*Free Materials
CALIFORNIA INSP SCNCE ERTH & SPCE LIFE PHYS G6-8 TEACHER PROGRAM GUIDE	978-0-07-686972-5	3	\$11.24	\$33.72	*Free Materials
CALIFORNIA INSPIRE PHYSICAL SCIENCE G8 TEACHER EDITION 4 UNIT BUNDLE	978-0-07-686816-2	3	\$202.23	\$606.69	*Free Materials
CA INSPIRE SCIENCE PHYSICAL INSPIRING CAST SUCCESS GUIDE	978-0-07-683051-0	3	\$22.47	\$67.41	*Free Materials
INSPIRE PHYSICAL SCIENCE CA GRADE 8 POSTER PACK	978-0-07-684818-8	3	\$22.47	\$67.41	*Free Materials
CALIFORNIA INSP SCNCE ERTH & SPCE LIFE PHYS G6-8 TEACHER PROGRAM GUIDE	978-0-07-686972-5	3	\$11.24	\$33.72	*Free Materials
		•			

 Teacher Resources Subtotal:
 \$3,189.69
 \$0.00

 CA Inspire Science Subtotal:
 \$5,886.09
 \$18,425.40

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: (800) 780-0246 | Fax: (866) 513-8081

QUOTE DATE: 06/07/2024 ACCOUNT NAME: AMERICAN INDIAN PUBLIC CS II EXPIRATION DATE: 09/05/2024



Comments:

Because learning changes everything."

QUOTE PREPARED FOR:

AMERICAN INDIAN PUBLIC CS II 171 12TH STREET OAKLAND, CA 94607-4900 ACCOUNT NUMBER: 3828764

CONTACT:

Zubida Bakheit zubida.bakheit@aimsk12.org (310) 498-1848

VALUE OF ALL MATERIALS	\$24,311.49
FREE MATERIALS	(\$5,886.09)
PRODUCT TOTAL*	\$18,425.40
ESTIMATED SHIPPING & HANDLING**	\$0.00
ESTIMATED TAX**	\$1,888.60
GRAND TOTAL	\$20,314.00

SUBSCRIPTION/DIGITAL CONTACT:

Zubida Bakheit zubida.bakheit@aimsk12.org (310) 498-1848

Thank you!	
* Price firm for 90 days from quote date. Price quote must be attached to school purchase order to receive the quoted price	and free materials
**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of actual tax charges will be applied at time of order.	
Terms of Service: By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('S and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscr LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specificated in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscription term for the Subscription Term'.	riber's payment of the fees set out above, McGraw Hill at corresponds to the quantity of Subscribed Materials cific provisions required by Subscriber's state law, each Description above. If no subscription term is specified, scriber shall renew for additional one (1) year terms
(each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and has sent an invoice for such that the subscription and the subscription an	r system. Therefore, as of April 30, 2016 we will no
longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone to visiting www.mhecoast2coast.com).	by calling the number listed above or via our websites by
School Purchase Order Number:	
Name of School Official (Please Print)	Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: (800) 780-0246 | Fax: (866) 513-8081

QUOTE DATE: 06/07/2024 ACCOUNT NAME: AMERICAN INDIAN PUBLIC CS II EXPIRATION DATE: 09/05/2024